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Diploma Engineering - SEMESTER-1V « EXAMINATION — SUMMER - 2014

Subject Code: 3342904 Date: 31-05-2014
Subject Name: Fabric Structure-11
Time: 10:30 am - 01:00 pm Total Marks: 70
Instructions:
1.  Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4.  Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.
Q.1 Answer any seven out of ten.
1.  State the basic characteristics of Bedford cord weave.
2. Give the classification of Bedford cord weave.
3. State the end uses of pile fabric.
4.  State the object of producing Backed cloth.
5.  State the name of different effects produced by using color and weave
combination.
6. State the loom equipment required for producing terry pile fabric.
7.  State the basic difference between velveteen and velvet.
8.  State the characteristics of crepe weave.
9. Sate the factors affecting the density of weft pile.
10. State the formulas to find out weight of warp and weight of weft.
Q.2 (a) Explain how the cords are produced in Bedford cord.
OR
(@ Compare welt and pique structure.
(b) Draw design, draft and peg-plan for the following ( Any Two)
(i) Plain faced Bedford cord (iii) Twill faced Bedford cord
(it) Crepon Bedford cord
OR
(b) Draw design, draft and peg-plan for the following ( Any Two)
(i) Ordinary welt structure (iii) Pique structure
(if) Fast back welt structure
Q.3 (a) Give the classification of pile fabric.
OR
(@ How loop are produced on the surface of the pile fabric in terry pile weaving.
(b) Draw design and cross section for the following ( Any Two)
(i) Corduroy / corded Velveteen (iii) Plain Velveteen
(if) Weft Plushes Velveteen
OR
(b) Draw design and cross section for the following ( Any Two)
(i) 4 Pick Terry (iii) 3 Pick Terry (Both Side)
(if) 3 Pick to 1 Wire Velvet
Q.4 (a) State the difference between warp backed and weft backed structures.
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State the purpose of using wadding threads in backed cloth.
Draw design, draft and peg-plan for the following ( Any Two)
(i) Warp backed structure (iii) Weft backed structure
(if) Wadded warp backed structure
OR
Calculate the weight of fabric from the following particulars.
(i) Length of cloth: 100 yards (ii) Reed Space: 42 Inch
(iii) Warp & Weft count: 40s Ne (iv) EPI : 72 & PPI. 64
(v) Warp contraction: 9% (vi) Weft contraction: 10%

Explain the factor affecting the length of pile in weft pile structure.
Draw design for the following ( Any Two)

(i) Hound’s tooth pattern (iii) Bird’s eye effect

(if) Step pattern
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(if) Length of cloth: 100 Yards (ii) Reed Space: 42 Inch
(iii) Warp & Weft count: 40s Ne  (iv) EPI: 72 & PPI: 64
(v) Warp contraction: 9% (vi) Weft contraction: 10%
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